anm A

AGC VT B ] Bl B) I d 3
‘ Al4 o
A 9
K
T 3w ;
R0 100 "es
cioz ® con u
104 5t €75 102 1ap 5 Ru2 RiN
faonor T seud s ol L
L w7 b hrioa
e -1 Ex RI03 RI04 - = 00 75 AJVIN
crs oW ok L 330 =
L sroun ces
7 TouF
A2 Len oan{L O
T
il veost, )} el
RIS c7e  RIG
veo.coi [ 180K 0.47uF 330 =
R s
ety veoan] = A07 213
o4 4
100 =
L L = Rite RI17
E] ¥ 40 F * e A8 w7 22
R45 [RI00 o R102 +
ok ook [l e s hun weoour TouF Rits RI1B
JR— = AD9 4KT 2K2
13 et astrercn
. & g
on il R4 560K L os =
W U PP L S
o
l vt —— L exr.vioeo.out (4
2] . E{E-1
Po/en v ADQ W “ Ra1 RE2 =l el =l 5
A luo. e 150, T = 3
[ N Re0_100 AD1 1 B 2 ! !
il waln ] o I R7 888 = 5 -
R3g 100 4 3
o nfe A02 c24 ) 103
B — wain T -
T — Y €23 ;| 103
j ol s R 06 AD3 o o 1 A1
: ) . 1 ddd g
© an S ew ° A35 o7 s o Joy Do v zzzgx =8 o
o s et = — " e e — w, Lso. ok, o csy o
[Fo e d L " " . K " ouT
2 IC6  24C04 ADB R72_ 33K
= R11_22K P seom |3 0
T u . P p— Lo [ cnopgsor
s = J Rig_22¢ ] scom @ . Tl K ci20, 154
RI3 22K Y Al015,
s » . cigy 103
Re4 RIS Les R29 22K 1 L
680 10K o + = c19._1our RB0 10K oves ls
bace sao = u
= 224 2%z I N T 0 o - os9 2208, 5 . sv TT
L. it w LT Y g o o l: el Lo
RIB 270K R17 330 " ol R32_3K3 A03 474 T o3 ; [T W | AR R a ==
L L w 2 R33 47 A02 h A 28 harern o 48 [ o ror 1 44 £33 e 878
Lo ca sonn = L1 n pRT FECECECECEE
a2 L w L SECAM R34_4K7 AD1 + 8 = = c60 Zi; 8 3 8 8 8 S
= = ksne  con - Tour .
A P 2 R35 4k7 A0D on o2 Rz 1. I L R73_ K
To { hove  nann R Res 45 L oL o "
s | Mo e | T bt s o
icz = {1 La7ssi0 = o
Lossss2en +8VT i =D s
crsV +5V °
.
38 37 rep
L ) 102 4k7
HIt ciso Lot Lo L
J ‘L 10 T 0 Tu“r e a0
Lea
cs1 B A
73 ok pioc Esileal
g 22 (5] ree Riss 129
] EEEEEE! cnz oo se0
= w02 T cag R154
e =
cizs " 560 5
472 CI00 L ggy ir Q
Sl tor 755 o I
11 e g
o A4 e
is il A2 AL00:50] <<
cas oy —A
100uH oot cigs
T ooowr co2 RUZ  RU2 T 07 cos —1 T roour
= Tour_180K = NsB1s To0uF L7 ey
Pt »t 2
L L2 oo o oo cis3 S
= Neg37 70 T
EFD15-9 < U - oesv
D2 100uH
nsB1g
£ Bt
& ?L L +5V ook 88 ir
Ea ca7 ciot N u . u
£ ST T o7 Toor e ik oo T
s ; " I1 T o0 = s =
se2ses E 37 == - -15v
£ D 1
e 9+ 7V o2z
£ 04
100uF /25V T R10
L Rize
10K 3 o cios =
7V IAMF/ZSV L/R
s L
o T Lo Ao
o3 W émT% we Loss / H w
z2ir/s0v | Lo AZV T s P ——
o1 - = - < G s S0

JV—-580—-89LA

+5V.




